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Express each force acting on the pipe in Cartesian vector form.

F, = 4001b

Rectungular Components: Since oggzaz-i- mzﬁz + m?.rz =1, then csfip :t{l—miﬁﬂ“-mﬁz 120° = HL.T071.
However, it is required that S5 > 90°, thus, o = s~ 1(07071) = 45°. By resolving F) and Fp into their x, y, and
components, as shown in Figs. a and b, respectively, ¥j and F, can be expressed in Cartesian vector form, as

F = aw(‘-‘-s)(a)-m §+ m«{%](-m;.

= [480i+360k ]N
Fy = d00c0s60°i + 400 c0s 45°§+40000s 120°k
= [200i+283] - 200k]N
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